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Q.1. Fill in the missing numbers. State the property of addition you have 	

	 used.

	 a.	 46 + _____ = 51 + _____          

		  Property:  ___________________________________

	 b.	 76 + ______ = 76                        

		  Property: ___________________________________

	 c.	 (50 + 9) + 8 = 50 + (____ + 8)    

		  Property: ___________________________________

Q.2. Use the grouping property.

	 a.	 9 + 32 + 8 = ______ + _______ = _______

	 b.	 67 + 22 + 3 = ______ + _______ = _______

	 c.	 86 + 94 + 6 = ______ + _______ = _______

	 d.	 45 + 35 + 5 = ______ + _______ = _______

Q.3. Solve by splitting an addend.

	 a.	 67 + 94 = ______ + ______ + ______ = _______ + _______ = _______

	 b.	 98 + 34 = ______ + ______ + ______ = _______ + _______ = _______
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Q.4. Find the sum.

	 a.	 232 + 753	 b.   604 + 42 + 9	 c.   346 + 395

Q.5. Tick the correct option. 

	 a.	 ________ should be added to 430 to get the sum 430. 

		  i.	 430	 	 ii. 1	  	 iii. 0	  	 iv. 340	

	 b.	 (16 + 20) + 49 = 16 + (20 + 49) represents __________ property of 	
		  addition.

		  i.	 zero	 	 ii.	 commutative	 	

		  iii. associative	 	 iv. order	

	 c.	 When we double the number 220, we get the number ________.

		  i.	 440	 	 ii. 425	 	 iii. 420	 	 iv. 240	

	 d.	 190 ones has _____ hundred and _____ tens.

		  i.	 190, 0	 	 ii. 1, 90	 	 iii. 19, 0	 	 iv. 1, 9	

	 e.	 Sum of place value of 6 and 2 in 206 is _________.

		  i.	 260	 	 ii. 602	 	 iii. 520	 	 iv. 206	

Teacher’s remark: ________________________________________________
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